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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think 1s correct,
fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or
more circles will result in zero mark in that question.

( SECTION-A il »)

Q.1 Questions (A) (B) (C) (D)
Work done by a body due to its motion | Potential Kinetic Power Velocity
1s equal to of body. Energy Energy

1) J() J o .Lfg-’/c. ) urc.'/} d/(bjf u/ J/!J"j &)l_@'ég Ag (3’0:

_.ac_t‘yz/,l/,ﬁ ______
One horse power 1s equal to:
11) 746 watt 476 watt 687 watt 674 watt
-‘Ll:‘ﬁ/,l/,u.l;u%ugl
What should be the approximate length
of a glass tube to construct a water
barometer?

) | . e . . : 11 m 2.5m I m 0.5m

S d ol S o SE &b 160
ke 4 200,
Which of the following has large | Copper CIé}év Water Mercury

iv) specific heat? R N

?‘LD).LLJJ!J&Jl]JUfLJ:JJ.bJJ /“K;?X\zﬁ’\\ J/{, d.l: d//’
Volume thermal expansion of solids 5~
vy | (V)= ]3\4- UAT | V(1 + puAT) | V,1 + pAT | V,(1 + pAT)
______ —(V):Mdﬂiu"’p”luﬁ(tﬁl&;{<
Rate of flow of heat = \\$ Q , Q2
' el = X il

1 = /&b?\ziwii Q ¢ ik n
Least count of digital Vernier Callipers 4 1 1 1

vii) |18 —cm ——cm cm cm

_%&SKMKJ/,’;.:EC’-:U/;,%? 10 100 1000 10000
In third equation of motion 2as =
ooy | V2= 1 2
viil) | V1 V; Vi t t
2as = Vi uewuus u.‘.';;,l;Lwd/JJJ
Coefficient of friction (|)= F, R 1

' . af « F{R — —

1x) s (WeEd ) I R I, b
To run, what 1s needed to push the | Momentu Weight Acceleratio Friction
ground backward? m n

O | enp§gUE S0 L L] o HHM '/

946'_3 v
| S.I'unit of torque 1is: » . .

X1) _%&gKJ/JUU.‘.'S.I Nm Nm Nm Nm
The value of ‘g’ at the surface of sun

xii) |18 ) 8.87ms~ % | 25.94ms™% | 274.2ms % | 9.8.ms?

e dned$g 0 b
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( SECTION-B (».ﬂ?)

2. Write short answers to any Five questions: (5x2=10) :é/“ /" @gigégunyéga_éf )

1.
11.
111.

1V.

V1.

V1.

VIiL.

Define Scientific Notation and give example. _é;dt‘»mé — /7 d/ ffb I i
What do you know about Geo-Physics? CLZ bl uté,)géu( 5 2T i
Estimate your age of 15 years in seconds. e QUL K156 £ % il
Define centrifugal force. _éh.y /7 d/ u’ﬁffd AV

. What 1s difference between action and reaction? 0 /uﬁfg ledﬁg [V
?fhat wo%ld happen if all friction suddenly o ﬁLﬁLtg » F] Jlg’ u’( 5 ur f:’/? i

1sappears’

What 1s meant by the force of gravitation? P sl L c_uv}gf? dgf Vil
Define field force. _é - /7 d/ JuP A viii

3. Write short answers to any Five questions: (5x2=10) *i/ / atliﬁaﬂlyitééf 3

1.

11.
111.

1V.

V1.

Vil.

V11l.

i. Define a graph. Differentiate  between U=//4 Va J’JT/ l}("dt‘&._:l/ oy S/ i

independent and dependent variables of a graph. £>\/ o 3 é L3/
Draw distance-time graph for a body at rest. O/{\é‘\:\(/ ] Jé d E’_,Labéj/ () EndlJ i
Differentiate between Scalars and Vectors. N 1 u) By n s /’:./mu/kc 111
!\> = X

The mass of 200cm?® of stone is 400g. Ef?cﬁlts W“’JJ"%4OOgJLg/€’£r’£" 200cm? L) iv
density. A~V B i

. State Archimedes principle. { Qﬁ}« ._“L_‘fugdﬁ%u’,gﬁjl v
Why is water not suitable o be used in a a7 Unir U LSS 2 0L v
barometer? ¥
How does rate of flow of heat vary with the &4 Wk»Ll U LUy s LUAS L7 i
temperature difference the ends of a solid? e bl KIS
ZVlrjte down the names of four faces of a Lesile’s _"jci: L7 ot ZU & /ngu,-« L4 viii

ube. '

4. Write short answers to any Five questions: (5x2=10) i Z /“ =\ 2L el yégc_,[}’ 4

1.

11.

111.

1V.

V1.

Vil.

Define couple. What will be the angle between 45 J DIV P2 57’ )9 33 J ‘ﬁ/ vg' -é b-i‘.’/j d/ f 1

two forces of a couple? ef )
State the principle of moments. %pakciw.org%ﬁo -2:’_:4 ¥ J:"IKJ?’ v 1
It F, = 8N and Fy = 6N, find the magnitude and - Fy = 6N Fy = 8N<f— LFJJ’; ..{l i1
direction of force F. -éﬂl”&/zﬂ/’@tﬂf/}u"

Write down the equation for Kinetic energy. If (?UJJ()‘Z.JZL/(Jfﬁ_g&bPJ&)’u@'(jg aw
velocity of a moving becomes two times, what )

will happen to its kinetic energy? e :/c‘u:f GG AT st

A force of 200 N acts on a body which move  ». . ( 37, 3 S F 7 078 200N v
150 m 1n the direction of force. Find the amount % JJJ ()J’ 4"“3 ‘Jj ':f) AL J

of work done. _”é/ (}1” s J;-9.t'/ & li150m
Write down any two renewable energy sources. ¥ (t&éw’»ﬁ&ﬂyf JE i

Convert 122 °F temperature into temperature on Y S J:C BISN J:C u/:E,/ J 7 2122 °F vii

Celsius scale and Kelvin scale.



viii. What is meant by internal energy of a body? On LJIf S AL te s,V SaS 1S A 5" viii
what factors does it depend? ¢

¢

( SECTION-C /»_»)
Note: Attempt any two Questions. (9x2=18) E@E pakcity.org%o ..u“’/ J’ :,Ulr»a‘jf:d.a)

5. (a) Drive the formula to calculate the orbital speed Jor by J&J’Tu Eyars J J”f W § 55 ()
of artificial satellite near Earth. [ 4 o -

S I K S
(b) A body has weight 20 N. How much force is L 2ms—24 1 20 Nwﬁﬁ 1@
required to move 1t vertically upward with an ‘ g '
acceleration of 2ms 27 ujé Li_lgc’__})’ J,;;ltw,ggc_cﬂ-/‘/g
?j Vi s /bd/u}}

6. (a) What measures do you suggest to conserve DT AT e I LEL B U /q;;f (U -6
energy in houses? ) - ' Y
'L

(b) The head of piq is a square of side 10mm. Find 2L u{u? c VUE,ir JUL K er L1 (&
the pressure on it due to a force of 20 N. o _ C
(hg & 9 J20N613£4Jl+ 10mm

_i()b” / /Ul)é_f‘
7. (a) Define evaporation and write factors that affects L il 5,& 4 (U
rate of evaporation in detail. Z’/ JJf "’Q’/ Z 7 Jﬁ/ ~updl () -7
\6‘)\/ = *’L/JU’J/WIK
(b) Find the perpendicular components of a force of , « L\Af’f 5630 °FL LA 3 (SON ()
50N making an angle of 30° with x- axis. < \({/ ’ /'X 7
N L@? i e Lof L e
&P o
QOV
AN





